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Consolidation Sheet 9 - First Level **

If I spend 94p and pay with a £1.00, how much change will I receive?

3X10=

30 divided by 5 equal groups is?
Add 28 and 52

Add 13 and 61

Take away 29 from 80
Subtract 11 from 62

2 multipliedby 8=___ ?

Which is heavier: an apple or a pineapple?

. Round 21 to the nearest 10
. Round 717 to the nearest 10
. Round 598 to the nearest 100
. What is 934 to the nearest 100?
.100-99=____
14,18 __, 26, __, 34 complete the sequence
. 80,__,__,__,64 complete the sequence
. Double 13
. Double 16

. Find a quarter of 20
. What is 3 of 14?



